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#3E100m 1 {u EIERES 2 fu AL &S 3 fu AldEES 4 i F/R3 5 {i B3 6 fi 2 B3 -15
12.42 12.42 12.69 12.75 13.33 13.40
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EZE100m | 1 i = W2 2 fu EIERE2 3 i B2 4 2 182 5 i A 2 6 i Adt &2 -0.2
12.03 12.46 12.75 13.13 13.25 13.32
WA Bt it e BE g EZH BX IS = ORH B A
#3E200m 1 {u EIERES 2 fu AL ES 3 fu A& S 4 { FEIEEIS 5 fi N 3 6 fiu 2 B3 -0.1
25.20 25.48 25.91 27.35 27.99 28.64
T #BF BH 3K 7l = el K#t ¥EH #HZ- RES=ER
#3HE400m 1 {u = W2 2 fu AldkE2 3 i 2 182 4 { B2 5 i A 3 6 fiu 2 B2
54.26 55.85 56.04 59.54 60.96 61.49
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#3E800m 1 {u i B3 2 fu &2 3 i Aldt &3 4 { EEREI2 5 {i EERE2 6 fiu A s
2.12.51 2.18.04 2.20.98 2.21.32 2.29.53 2.36.80
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#5E1500m | 1 B3 2 fu EERE2 3 fu b= 3 v K] 4 Ak &2 5 i F/R3 6 fiu A s
4.29.19 4.31.64 4.42.19 4.47.86 4.55.55 4.56.93
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#5E3000m | 1 I EIERE2 2 fu i 1E3 3 i E B2 4 { Aldk &2 5 {i B3 6 i AldE &S
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1.57 1.48 1.45 1.40 1.40 1.30
B8 #t O By HZH BX AE ®'A ZH & = EH
HEEFB 1 fi F/53 2 fi F/R3 3 i EERES 4 i A #3 5 i FETEEI3 6 fiu A 2
5.76 (-0.5) 5.69 (+0.4) 5.07(-1.1) 4.89(+0.7) 4.86(+1.1) 4.44(+0.0)
JEg=2E=S fiE Fl= T #0 EH HTH  Bh =H R W# Hah
FENEBE 1 {u A 2 2 fu A #2 3 fu FEIEEI2 4 i F/R2 5 i AdtE2 6 fi 2 182
5.24(-0.5) 4.84(+0.4) 4.79(+0.2) 4.69(+1.3) 453(+1.6) 451(-0.1)
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9.91 9.53 9.28 8.10 7.14 7.03
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14£100m 1 {u A 2 fiI VBRI 3 fu A 4 i =g vy 5 {i =g vy 6 fi F/R1 -0.8
13.26 13.63 13.91 14.86 15.19 15.21
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HBE100m 1 4 N ES 2 fu PoE[A=] 3 fiI = W3 4 f AdeE2 5 {i = 3 6 fiI 2 B3 -15
13.95 14.29 14.46 14.71 14.95 14.97
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£°3 EZ4£100m | 1 i b= v 2 fu B2 3 i = 2 4 f ks 2 5 {i AL &1 6 fiI N 2 -0.9
13.13 13.64 13.84 14.22 14.23 14.33
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H#E200m 1 4 = W3 2 fu adeE2 3 i EEE2 4 f b= K] 5 fif R 2 6 fiI F/R3 -1. 4
28.53 29.75 30.01 30.02 30.58 30.69
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$#£E800mM 1 b= v 2 fiI b= v ) 3 fiI EEE2 4 I EEE2 5 fif AdEsE2 6 fiI F/%3
2.26.37 2.27.29 2.30.76 2.30.96 2.33.58 2.40.90
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+ #E1500m | 1 fif EER2 2 fiI b= v ) 3 fiI B3 4 I b= v ) 5 fif AksE2 6 fiI AdksE2
4.56.41 4.56.44 5.04.98 5.08.54 5.24.68 5.36.40
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H#HFE100mH | 1 & B2 2 fif E B2 3 fif = 03 4 fif L& 3 5 fi = 13 6 i E 2 +0.6
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D HBESH | 1 1 = 3 2 fiI A #3 3 fiI b= v ) 4 I EEE2 5 fif AdkE 6 fiI E 1R3
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HBEER | 1 = 3 2 fiI b= v 3 fiI 2 4 I F/R3 5 fif FEERSS 6 fiI A& s
4.43(-0.7) 4.2(+0.5) 4.04(+0.8) 4.02(-0.4) 3.91(-0.9) 3.91(-0.2)
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4.89(-0.2) 4.63(-0.6) 4.28(-0.4) 4.21(-0.3) 4.12(+0.0) 3.98 (+0.6)
MR B 2T BF Atk F8 HR & &8 EK EREFF
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